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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-2

BYiE) | GEBIATK () | EHME (EH/H) | EBRERE (B/R) | XK R

06:10 169 100.0 2.16 |Z=| {Ri%e06:10 Bz (REAZHE)
07:10 169 100.0 2.16 |Z=| {Ri%e07:10 Bz GGREEZEBE)
08:10 169 100.0 2.16 |Z=| 1{Ri%e08:10 Bz (KREAEZEHSE)
09:10 169 100.0 2.16 |Z=| {Ri%e09:10 Bz (REAZHE)
10:10 169 100.0 2.16 FA| 1B2i%@10:10 B3h (RAB{ERESE)
13:00 169 100.0 2.16 FA| {Ri%@13:00 Bz (GkAERESE)
14:15 169 100.0 2.16 FA| 1BRi%@14:15 B3h (RAHERSE)
=2it|1183.0 (7% 700.0 EGHKEC: 2250, PH: 6.4

unusual large postFgEt from yesterday (397), set to 300.0 ml.

MERFEREHEYIR S, M & 3E&PHA 21 46.5,10.1,6.5, RERX
BEXREBIPH (10.09) 5i&EPH (6.5) REK K, HRE
BEXREBIPH (10.09) 5FMPH (6.5) REK K, HRE
FREE NS KFHIBPH 6. 42

1 [E)KECE (2508. 0 vs 3408.0) B =
FRBVE NS RIFEREC 2250.0
LOREBIEC (2791.0) S5HEEIEY (2250) RER K, FRE.
ERERRPH (10.6) S5i&EE (6.5 REKK, HHRE.
ERGEBPH (10.6) SEEEW (6.4) RERK, HRE.
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G3-2

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

05:45 254 100.0 2.16 FH| {RRi&@05:45 Bz (RAEESE)
06:45 254 100.0 2.16 FH| 1Bi%@06:45 Bzl (RAEREE)
07:45 254 100.0 2.16 FA| 1BRi%@07:45 B3h (KRAERSE)
09:35 254 100.0 2.16 FA| 1BRi%@09:35 B3h (FKA{EREEE)
13:20 254 100.0 2.16 FA| 1B2i%@13:20 Bzh (RAB{ERSE)
14:25 254 100.0 2.16 FA| {Ri%e@14:25 Bzl CGRAEEE)
15:55 254 100.0 2.16 |Z=| {Ri%e15:55 B (REEZEBE)
=2it[1778.0 (%) 700.0 EGHIKEC: 2250, PH: 6.5

EORGEBBT SR AR B2 (254 vs 169.0))

2RI\ L PRIERE150. 0 ml.

MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK
RERERIPH (10.29) 5i&EPH (6.5) REK K, HFRE
BEXRERIPH (10.29) 5FMPH (6.5) REK K, HRE

REE NS K RPH 6.5

HEEIRECE (2495. 0 vs 3390.0) RS
IRENE Y4 K REC 2250. 0
LRGEBIPH (11.0) 5i8%E{E (6.5) RERK, BERE.
LRGERPH (11.0) S5#RBIE (6.5) RERK, BRE.




G3-2_0, Day=31 (2025-06-12)
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G3-2

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:55 254 100. 0 2.16 E  1BRi%e06:55 BE1 (RAERRE)
07:45 254 100.0 2.16 F BRi%e07:45 B CGREERE)
08:35 254 100.0 2.16 = {Ri%@08:35 B (RFAERSE)
09:40 254 100.0 2.16 F BRi%e09:40 BEh (RAERE)
10:40 254 100.0 2.16 = Ri8010:40 Bah (RAEESE)
11:45 254 100.0 2.16 = {Rige11:45 B3 (GRAERSE)
12:50 254 100.0 2.16 E BRige12:50 Bz (GRAERERE)
13:50 254 100.0 2.16 F BRi%e13:50 Bz (GRAERSE)
14:45 254 100.0 2.16 = {Rig014:45 B3 (RAERSE)
15:45 254 100. 0 2.16 E BRi&e15:45 Bz CGRAERESE)
16:55 254 100.0 2.16 El 1BRi&e16:55 Bzl (GRAEREE)
B3t 2794.0 (11)%) 1100.0 EWGHIKEC: 2250, PH: 6.5

LORGEBRBTC R IR IR AR Y (254 vs 169.0))
2RI\ L PRIERE150. 0 ml. ‘
MERMEAEHB9IRE, i B RPHA B 46.5,10.3,6.5, RERK

RERSERIPH (10.33) 5i&EPH (6.5 REKK, HHRE
REXRGEBIPH (10.33) 5FMIPH (6.5) REKK, BHRE

REE NS K RPH 6.5

#H[ERECE (2537.0 vs 3647.0) RS
REVE NS KFIREC 2250.0
LORGEBIPH (10.2) 5i&%E{E (6.5) RERK, BERE.
LOREBIPH (10.2) S5HREIEN (6.5) RERK, HRE.
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2200 d
10 4 optPHO=6. 5, setPHB=6.5
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25 60

60 + FRV

5O A - 100

G3-2_0, Day=30 (2025-06-11)

1gold VO!$RYV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

Warning: lcol [FVI',| "FVO’'] missing
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